
CHEMISTRY

BOOKS - CENGAGE CHEMISTRY (HINGLISH)

ALKYNES

Illustrations

1. Give Structural formula for the following compounds: 

a. Z-Pent-3-en-1-yne 

b. E-Hept-5-en-1, 3-diyne 

c. E-1-Ethynl-2-methyl cyclopropane 

d. Progargyl cyclobutene or (2-Propynyl) cyclo-but-1-ene

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iZ28dVBJZtK3


2. What is the smallest ring that can accommodate a triple

bond?

Watch Video Solution

3. Which isomer is chiral?

Watch Video Solution

4. Give the structural formula of an unsaturated hydrocarbon

with the lowest number of  atoms (or with lowest molecular

mass) which shows: 

a. Optical isomers 

C

https://dl.doubtnut.com/l/_iZ28dVBJZtK3
https://dl.doubtnut.com/l/_c6dBvCkmc7D2
https://dl.doubtnut.com/l/_CvUyu4bem1K4
https://dl.doubtnut.com/l/_rvwvug5Fxhwp


b. Geometrical isomers 

c. Both optical and geometrical isomers

Watch Video Solution

5. Give the structural formula of a cyclic alkyne with the lowest

number of  atoms and showing:  

a. Both geometrical and optical isomerisms. 

b. Geometrical isomerism with meso stereoisomers.

Watch Video Solution

C

6. a. 

https://dl.doubtnut.com/l/_rvwvug5Fxhwp
https://dl.doubtnut.com/l/_1JI2O9ug6FIz
https://dl.doubtnut.com/l/_dyoMLb3McG8z


Watch Video Solution

7. Which of the following acid-base reactions will occur? 

f.   

g.   

h.   

i.   

j. 

Watch Video Solution

H − C ≡ CNa + CH3OH

H − C ≡ CH + CH3Li

H − C ≡ CH + NaH

H − C ≡ CH + NaCN

H − C ≡ CNa + CH3COOH

8. Explain which path is feasible for the preparaation of

compound 4, 4-Dimethyl pent-2-yne (E). 

https://dl.doubtnut.com/l/_dyoMLb3McG8z
https://dl.doubtnut.com/l/_AgNlVIYZPSrm
https://dl.doubtnut.com/l/_PEXYdIvt5Bzq


Watch Video Solution

9. How are terminal alkynes distinguished and separated from

internal alkynes?

Watch Video Solution

10. Complete the following reactions: a.

 H − C
(A )

≡ C − H
1mol

−−−−→
NaNH2

(B)
CH3Br
−−−→ (C)

https://dl.doubtnut.com/l/_PEXYdIvt5Bzq
https://dl.doubtnut.com/l/_0P6FNtiGTFp7
https://dl.doubtnut.com/l/_uBeqhURhU0Cl


  

g.   

Watch Video Solution

H − C ≡ C
(A )

− H
1mol

−−−−→
NaNH2

(B)
Br(CH2 ) 8Br

−−−−−−−→ (C)

11. Explain the formation of products (B), (C), and (D) in the

following reaction.

https://dl.doubtnut.com/l/_uBeqhURhU0Cl
https://dl.doubtnut.com/l/_xcprzZZGQYeY


Watch Video Solution

12. Convert: 

Watch Video Solution

13. Complete the following reactions: 

a.   Prop − 1 − yne
NaNH2

−−−−→
liq .NH2

(B)

https://dl.doubtnut.com/l/_xcprzZZGQYeY
https://dl.doubtnut.com/l/_BZOQitiJzd2u
https://dl.doubtnut.com/l/_OYDeK8SV7RQG


Watch Video Solution

https://dl.doubtnut.com/l/_OYDeK8SV7RQG


14. Complete the following reactions: 

  

https://dl.doubtnut.com/l/_VQ4VGBRQKSBo


Watch Video Solution

15. Compolete the following: 

a.   

https://dl.doubtnut.com/l/_VQ4VGBRQKSBo
https://dl.doubtnut.com/l/_jxymQ005AkEo


b.  

c. 

Watch Video Solution

https://dl.doubtnut.com/l/_jxymQ005AkEo


16. Complete the following reaction

Watch Video Solution

17.   

Give the products (B) and (C) in the above reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_Zxf19bp3ugnh
https://dl.doubtnut.com/l/_ADnYHD8FWaF9


18. Compound (A) is an important consituent of hormone that

is found in beetles and gives the following reactions. Identify

compounds (A) to (G). 

Watch Video Solution

https://dl.doubtnut.com/l/_hoTRhmGMchyM


19. Identify  to .  

i.   

ii. What would be the structure of (A) if (F) is resolvable?

Watch Video Solution

(A) (F )

https://dl.doubtnut.com/l/_HcMryyoOZpnk


20. Distinguish between the following pairs: 

a.  and 

  

Watch Video Solution

https://dl.doubtnut.com/l/_Hz3Ci9chimLP


21. Identify (A) and (D). 

a.   

b. What would be the structure of (A), if on reaction with

 or , it gives an optically active

compound?

Watch Video Solution

(Na + EtOH) (H2 + Ni2B)

https://dl.doubtnut.com/l/_Hz3Ci9chimLP
https://dl.doubtnut.com/l/_CZl4cIdezmxO


22. Complete the following reactions: 

  

Watch Video Solution

https://dl.doubtnut.com/l/_bZoybnBKaBrb


Watch Video Solution

23. a. Give the structure of lowest molecular mass and optically

active alkyne. 

b. Give the structure of unsaturated hydrocarbon with lowest

molecular mass showing diastereomers. 

c. Give the structure of alkyne that gives the same product on

reaction with either  or .  

d. Give the structure of alkyne that gives the same single

product on reaction with either 

or dil. .  

e. Give the structure of alkyne that gives the same two

products with either of the reagents in (d).

Watch Video Solution

H2 + Ni2B K + C2H5OH

(B2H6 /THF + H2O2 /
Ө

H)

H2SO4 /Hg2 + /H ⊕

https://dl.doubtnut.com/l/_bZoybnBKaBrb
https://dl.doubtnut.com/l/_DdSSnDCcvEOP


24. Complete the following reactions: 

 

  

The compounds (E) to (F) can be obtained by four di�erent

reagents. Give the names of the reagents.

Watch Video Solution

HC ≡ CH
?

−−→ (B)
?

−−→ (C)
?

−−→ (D)

https://dl.doubtnut.com/l/_UGav1WQw65wU


Solved Examples

25. Complete the following reactions: 

Watch Video Solution

1. Identify A to C. 

Watch Video Solution

https://dl.doubtnut.com/l/_NOEFY8Av1aaj
https://dl.doubtnut.com/l/_2xNrnoij4ShK


2. Identify B to G. 

Watch Video Solution

3. .  

Vapour density of  at STP. On catalytic

hydrogenation,  of (A) consumed  of  at STP.

What is the structure of (A)?

Watch Video Solution

HC ≡ CH
Heated

−−−−−−−−→
under pressure

(A)
O3 /Red .
−−−−−→ Glyoxalonly

(A) = 4.643gI − 1

0.2gm 172ml H2

https://dl.doubtnut.com/l/_2xNrnoij4ShK
https://dl.doubtnut.com/l/_35x9h7lzL0Wx
https://dl.doubtnut.com/l/_4qTZcRhtOSTC
https://dl.doubtnut.com/l/_Cl1bRuRDXl0o


4. Identify (A) to (J), showing all reactions. 

Watch Video Solution

https://dl.doubtnut.com/l/_Cl1bRuRDXl0o


5. Identify A to D. 

Watch Video Solution

6. Alkenes are more reactive than alkynes towards

electrophillic addition reaction, yet vinyl acetylene reacts with

1 mol of  at triple bond. Explain why.

Watch Video Solution

HBr

https://dl.doubtnut.com/l/_IiYr8HCStaBG
https://dl.doubtnut.com/l/_AYl9ceotlW7T


7. There are two paths (a) and (b) for the preparation of a

compound (A)

 (2-

methylpent-1-en-3-yne), which path is correct and why? Also

name the path (a) and (b). 

Watch Video Solution

https://dl.doubtnut.com/l/_BSzzZD2IHI5H


8. Complete the following missing reagents: 

i.   

ii. There are two disastereomers of (D). Name the

stereoisomers of (E) obtained from two diastereomers of (D).

Name the stereoisomers of (E) obtained from two

diastereomers of (D).

Watch Video Solution

https://dl.doubtnut.com/l/_gNfv10Bz23ne


9. i. Complete the following missing reagents. 

  

https://dl.doubtnut.com/l/_gNfv10Bz23ne
https://dl.doubtnut.com/l/_gSbAPbW1Zz8b


  

ii. Write the formula and uses of compounds (D) and (E). Name

the type of elimination in reactions from (D) to (E).

Watch Video Solution

10. Convert the following: 

Watch Video Solution

https://dl.doubtnut.com/l/_gSbAPbW1Zz8b
https://dl.doubtnut.com/l/_Sa0lXjM2vskM


11. Convert propyne  (A) to 

Watch Video Solution

(Me − ≡ − H)

12. i.  mixture of alkyne and alkane (both containing

same number of carbon atoms) is dissolved in  of

benzene. The solution freezes at  (lower than that of

benzene). Another  mixture requires  mol of  for

complete hydrogenation. Calculate the chemical formula of

alkyne and alkane (  for ).  

ii. Alkyne on hydrogenation with  gives the same

alkane. 

27.8gm

1000gm

2.45∘C

27.8gm 0.6 H2

Kf C6H6 = 4.9

H2 + Pt

https://dl.doubtnut.com/l/_Sa0lXjM2vskM
https://dl.doubtnut.com/l/_Gdhm0tWQdAYI
https://dl.doubtnut.com/l/_ILHxoIMTxdBG


Alkyne does not react with ammoniacal  solution. Give

the structures of both alkyne and alkane.

Watch Video Solution

AgNO3

13. Identify A, B, and C. 

A, B, and C   

 All are soluble  

 White precipitate  

 Hexane  

  

 Pent anoic acid only  

 Propanoic acid only  

 Adipic acid only

Watch Video Solution

(C6H10)
Br2 /CCI2

−−−−−→ All decolourises
Br2solution

Cold
−−−−−−→
conc .H2SO4

(A)
Ammoniacal
−−−−−−→

AgNO3

(A and B)
excess

−−−−−→
ofH2 /Pt

(C)
1mol

−−−→
H2 /Pt

D(C6H12)

(A)
Hotalk .
−−−−→
KMnO4

(B)
Hotalk .
−−−−→
KMnO4

(C)
Hotalk .
−−−−→
KMnO4

https://dl.doubtnut.com/l/_ILHxoIMTxdBG
https://dl.doubtnut.com/l/_Z0wDfkuO98Yc


14. Convert: 

Watch Video Solution

15. Convert: 

  

Muscalure is a sex attractant of the common house�y (Musca

domestica).

Watch Video Solution

HC ≡ CH(A)
?

−−→
?

−−→
?

−−→
?

−−→ (B)Muscalure
(Z−Tri cos − 9 −one )

https://dl.doubtnut.com/l/_NeNSYBdAIEjr
https://dl.doubtnut.com/l/_RHrIIxwxrW6f


16.   

cis-Jasmone is an important perfume consituent. 

Write the structures of (A) and (B).

Watch Video Solution

(A)
H2 +P − 2
−−−−−→
Catalyst

(B)
cis-Jasmone

cis− 3 −Methyl− 2 − ( pent− 2 −enyl )

Cyclopent-2-en-1-one

17. Terminal alkynes  are not reduced by alkali

metals (e.g., Na, K, or Li) in liq. , but reduction takes place

when  is added in the reaction mixture. Explain

why.

Watch Video Solution

(RC ≡ CH)

NH3

(NH4)2SO4

https://dl.doubtnut.com/l/_cOkmIPI4pVDe
https://dl.doubtnut.com/l/_OHTi0F8av8su


18. Identify (A) to (G). 

Watch Video Solution

19. Convert the following: 

 

1-Bromopropane (A)

?
−−→ (B)

?
−−→ (C)

?
−−→ (D)Hept-2-yne

(E )

https://dl.doubtnut.com/l/_Nd7tJoWP3ZFK
https://dl.doubtnut.com/l/_C95z876jsQy6


Watch Video Solution

20. Complete the following: 

  

Give the major and minor products (C and D).

Watch Video Solution

21. Complete the following: 

Watch Video Solution

https://dl.doubtnut.com/l/_C95z876jsQy6
https://dl.doubtnut.com/l/_5VV77MwGQog1
https://dl.doubtnut.com/l/_apy3FrNWsDj6


22.   

In the conversion of (B) to (C), how many moles of  are

used?

Watch Video Solution

NaNH2

23. Give the products of the following reactions. 

Watch Video Solution

https://dl.doubtnut.com/l/_apy3FrNWsDj6
https://dl.doubtnut.com/l/_sI9P86Ub7TFI
https://dl.doubtnut.com/l/_rDmUlYafdLHM
https://dl.doubtnut.com/l/_GHl3VdLE0u5g


Exercises Subjective Type

24. Complete the following reactions: 

a.

Watch Video Solution

(A) + (B) −−−−−−−−−−−→
CH3ONa+CH3OH

https://dl.doubtnut.com/l/_GHl3VdLE0u5g


1. Identify the products. 

Watch Video Solution

2. Identify the products. 

W h Vid S l i

https://dl.doubtnut.com/l/_VyVAQdiyLW04
https://dl.doubtnut.com/l/_WBfXHEL44bSD


Watch Video Solution

3. Oleic acid and eladic acid are naturally occuring compounds

which are isolated from various oils and fats. 

Both diastereomers have one double bond at . Oleic acid

is cis and eladic acid is a trans isomer at . Both have

molecular formula . Synthesise both from

ethyne.

Watch Video Solution

C − 9

C − 9

C17H33COOH

4. Give the products formed from the reactions of each of the

following compounds with: i.  in warm acid  

ii.   

a. Pent-1-yne 

b. Nona-2, 6-diyne 

KMnO4

O3 /H2O

https://dl.doubtnut.com/l/_WBfXHEL44bSD
https://dl.doubtnut.com/l/_NaD3JqzImPtl
https://dl.doubtnut.com/l/_asiT0MfF3rD8


c. Hex-3-yne 

d. 2-Methylhept-3-type

Watch Video Solution

5. Identify (A) to (C). 

Watch Video Solution

https://dl.doubtnut.com/l/_asiT0MfF3rD8
https://dl.doubtnut.com/l/_JULU5syGZjeD


6. Complete the following reactions: 

Watch Video Solution

7. Identify the products. 

Watch Video Solution

https://dl.doubtnut.com/l/_sAAsJ0BQqzqu
https://dl.doubtnut.com/l/_dvr31vcsI39I


8. Identify (A) to (D). 

Watch Video Solution

9. Convert the following: 

Watch Video Solution

https://dl.doubtnut.com/l/_BgrdVBQs21VJ
https://dl.doubtnut.com/l/_woPy0texPKs0


10. Convert the following: 

Watch Video Solution

11. Identify the products: 

Watch Video Solution

https://dl.doubtnut.com/l/_qdEhBNSkM6ti
https://dl.doubtnut.com/l/_s4eYFnK8yyY2


12. Identify the three alkynes A, B , and C 

which give the following reactions. 

Watch Video Solution

(CH10H18) (C10H16)

https://dl.doubtnut.com/l/_s4eYFnK8yyY2
https://dl.doubtnut.com/l/_7sV4iokfSyCT


13. Deduce the structural fomula of a compound A 

which shows the following reactions: 

i. Adds 2 mol of  to form 2-methyl pentate.  

ii. Reacts with aqueous  solution to give a

carbonyl compound. 

iii. Does not react with ammoniacal  solution.

Watch Video Solution

(C6H10)

H2

H2SO4 + HgSO4

AgNO3

14. Identify (A) to (E). 

Watch Video Solution

https://dl.doubtnut.com/l/_uYWxMlF7O1ZN
https://dl.doubtnut.com/l/_3Y4xFSxPI4lA


15. Write the structures of isomeric hexynes and also give their

IUPAC names.

Watch Video Solution

16. What are the geometrices of: 

i. Prop-1-yne 

ii. But-2-yne 

iii. Hept-2-en-5-yne

Watch Video Solution

https://dl.doubtnut.com/l/_F93EqRYt0bRa
https://dl.doubtnut.com/l/_Th6hEUy7CKCE


17. Complete the following: 

Watch Video Solution

18. Identify A, B and C. 

Watch Video Solution

https://dl.doubtnut.com/l/_A5jvL2bgUZl0
https://dl.doubtnut.com/l/_FroKhmYQqRcY
https://dl.doubtnut.com/l/_uSBd9kbVqwY0


19. Identify the products. 

Watch Video Solution

20. a. Convert but-1-yne to but 2-yne and vice versa. 

b. Convert (cis or trans) pent-2-ene to pent-2-yne and vice

versa.

Watch Video Solution

https://dl.doubtnut.com/l/_uSBd9kbVqwY0
https://dl.doubtnut.com/l/_oaUCG1Jcnx4k


21. Complete the following 

Watch Video Solution

22. Identify the products. 

Watch Video Solution

https://dl.doubtnut.com/l/_X9qlxNakiJvp
https://dl.doubtnut.com/l/_3BHoBbizMr4I


Watch Video Solution

23. Complete the following reaction

Watch Video Solution

24. There are two paths to prepare compound (C). 

  

Which path is feasible and why? 

https://dl.doubtnut.com/l/_3BHoBbizMr4I
https://dl.doubtnut.com/l/_5uEQTiWI0l9H
https://dl.doubtnut.com/l/_z4Onv9ajCgdi


Watch Video Solution

25. Give the structures of reactants: 

Watch Video Solution

https://dl.doubtnut.com/l/_z4Onv9ajCgdi
https://dl.doubtnut.com/l/_WtDGuhWcI9QH


26. Give the structure of reactants: 

Watch Video Solution

27. Complete the following equations: 

Watch Video Solution

https://dl.doubtnut.com/l/_PLzrIhnu4Ujs
https://dl.doubtnut.com/l/_DodT1yFe9WgD


28. With alcoholic potash,  (A) gives  (B), which

reacts with ammoniacal cuprous chloride. Identify the

compounds (A) and (B).

Watch Video Solution

C4H8Cl2 C4H6

29. Three compounds A, B, and C are isomers of the formula

. All of them decolourise bromine in  and give a

positive test with Baeyer's reagent. All three compounds

dissolve in cone. . Compound A gives a white

precipitate with ammoniacal silver nitrate, whereas

compounds B and C do not react with it. On hydrogenation, in

the presence of platinum catalyst, both compounds A and B

yield n-pentane, whereas compound C gives a product of

formula . On oxidation with hot acidi�ed , B

C5H8 CCl4

H2SO4

C5H10 KMnO4

https://dl.doubtnut.com/l/_QZv89ypVzrN0
https://dl.doubtnut.com/l/_Ttze4oB2nA4z


gave acetic acid and . Identify compounds A,

B, and C.

Watch Video Solution

CH3CH2COOH

30. A dihalogen derivative (A) of a hydrocarbon having two

carbon atoms reacts with alcoholic potash and forms another

hydrocarbon which gives a red precipitate with ammoniacal

cuprous chloride. Compound A gives an aldehyde when

treated with aqueous KOH. Write down the name and formula

for the organic compound.

Watch Video Solution

31. An unsaturated hydrocarbon (A), , readily gives (B)

on treatment with  in liquid . When (B) is allowed

C6H10

NaNH2 NH3

https://dl.doubtnut.com/l/_Ttze4oB2nA4z
https://dl.doubtnut.com/l/_ycVoN0XDTsG6
https://dl.doubtnut.com/l/_exhfuruYnYT8


Exercises Linked Comprehension Type

to react with 1-chloropropane, a compound (C) is obtained. On

partial hydrogenation in the presence of Lindar's catalyst, (C)

gives (D), . On ozonolysis, (D) gives 2, 2-

dimethylpropanal and 1-butanal. Identify compounds A, B, C

and D.

Watch Video Solution

C9H18

1. In the following sequence of reactions, products A, B, C, D,

and E are formed: 

  

The structure of product (A) is:

https://dl.doubtnut.com/l/_exhfuruYnYT8
https://dl.doubtnut.com/l/_4ntcl6vuYSWS


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2C = CH2

HC ≡ CH

Me − ≡ − H

Me − ≡ − Me

2. In the following sequence of reactions, products A, B, C, D,

and E are formed: 

  

The structure of product (A) is:

https://dl.doubtnut.com/l/_4ntcl6vuYSWS
https://dl.doubtnut.com/l/_gPkR906M7fyX


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3. In the following sequence of reactions, products A, B, C, D,

and E are formed: 

https://dl.doubtnut.com/l/_gPkR906M7fyX
https://dl.doubtnut.com/l/_pTZRz6dZBTbB


  

The structure of product (A) is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pTZRz6dZBTbB


4. In the following sequence of reactions, products A, B, C, D,

and E are formed: 

  

The structure of product (A) is:

A. meso-Pentan-2, 3-diol

B. meso-Butan-2, 3-diol

C.  or rac-Butan-2, 3-diol

D.  or race-Pentan-2, 3-diol

Answer: D

Watch Video Solution

( ± )

( ± )

https://dl.doubtnut.com/l/_xhucEjy0tafz
https://dl.doubtnut.com/l/_b5JP5NvKTzKF


5. In the following sequence of reactions, products A, B, C, D,

and E are formed: 

  

The structure of product (A) is:

A. meso-Pentan-2, 3-diol

B. meso-Butan-2, 3-diol

C.  or rac-Butan-2, 3-diol

D.  or rac-Pentan-2, 3-diol

Answer: D

Watch Video Solution

( ± )

( ± )

https://dl.doubtnut.com/l/_b5JP5NvKTzKF
https://dl.doubtnut.com/l/_oFdOtf8bFmCy


6. In the following sequence of reactions, products A, B, C, D,

and E are formed: 

  

The structure of product (A) is:

A. Both syn-addition

B. Both anti-addition

C. Syn-and anti-addition

D. Anti-and syn-addition

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_oFdOtf8bFmCy
https://dl.doubtnut.com/l/_cQmTIOQRN8kj


7. In the following sequence of reactions, products A, B, C, D,

and E are formed: 

  

The structure of product (A) is:

A. It is stereospeci�c but not stereoselective reaction.

B. It is stereoselective but not stereospeci�c reaction.

C. It is both stereospeci�c and stereoselective reaction.

D. It is neither stereospeci�c nor stereoselective reaction.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cQmTIOQRN8kj


8. In the following sequence of reactions, products A, B, C, D,

and E are formed: 

  

The structure of product (A) is:

A. It is stereospeci�c but not stereoselective reaction.

B. It is stereoselective but not stereospeci�c reaction.

C. It is both stereospeci�c and stereoselective reaction.

D. It is neither stereospeci�c nor stereoselective reaction.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_IY0r6uNadBnA
https://dl.doubtnut.com/l/_hRNx2YE6amOf


9. In the following reaction sequence, products (A) to (G) are

formed. 

  

Product (A) is:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_hRNx2YE6amOf


Answer: A

Watch Video Solution

10. In the following reaction sequence, products (A) to (G) are

formed. 

  

Product (A) is:

A. 

B. 

https://dl.doubtnut.com/l/_hRNx2YE6amOf
https://dl.doubtnut.com/l/_VrUaWNyssOB7


C. 

D. 

Answer: B

Watch Video Solution

11. In the following reaction sequence, products (A) to (G) are

formed. 

  

Product (A) is:

https://dl.doubtnut.com/l/_VrUaWNyssOB7
https://dl.doubtnut.com/l/_9DVbrJI9g9UZ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

12. In the following reaction sequence, products (A) to (G) are

formed. 

https://dl.doubtnut.com/l/_9DVbrJI9g9UZ
https://dl.doubtnut.com/l/_RRsxeYc2jqt0


  

Product (A) is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RRsxeYc2jqt0


13. In the following reaction sequence, products (A) to (G) are

formed. 

  

Product (A) is:

A. 

B. 

C. 

https://dl.doubtnut.com/l/_CKNZeC5WMJzy


D. 

Answer: A

Watch Video Solution

14. In the following reaction sequence, products (A) to (G) are

formed. 

  

Product (A) is:

https://dl.doubtnut.com/l/_CKNZeC5WMJzy
https://dl.doubtnut.com/l/_gfN1bGO9Pj63


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

15. In the following sequence of reactions, products (A) to (H)

are formed: 

https://dl.doubtnut.com/l/_gfN1bGO9Pj63
https://dl.doubtnut.com/l/_3lLmlVdCmiDy


  

The gases (B), (C), and (D), respectively, are:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

  (B)                   (C)       (D)
––––––––––––––––––––––––––––––
(a)HC ≡ CH   CO2  H2

  (B)                   (C)       (D)
––––––––––––––––––––––––––––––
(a)HC ≡ CH   H2  CO2

  (B)                            (C)       (D)
––––––––––––––––––––––––––––––––––––
(a)Me − ≡ − Me   CO2  H2

  (B)                            (C)       (D)
––––––––––––––––––––––––––––––––––––
(a)Me − ≡ − H   H2  CO2

https://dl.doubtnut.com/l/_3lLmlVdCmiDy


16. In the following sequence of reactions, products (A) to (H)

are formed: 

  

The gases (B), (C), and (D), respectively, are:

A. 67.2 litres

B. 68.1 litres

C. 73.2 litres

D. 74.1 litres

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_SnfGA21H13Vj


Watch Video Solution

17. In the following sequence of reactions, products (A) to (H)

are formed: 

  

The gases (B), (C), and (D), respectively, are:

A. 11.2 litres

B. 11.35 litres

C. 22.4 litres

D. 22.7 litres

https://dl.doubtnut.com/l/_SnfGA21H13Vj
https://dl.doubtnut.com/l/_bvakX9LpwSu6


Answer: B

Watch Video Solution

18. In the following sequence of reactions, products (A) to (H)

are formed: 

  

The gases (B), (C), and (D), respectively, are:

A. 

B. 

C. Ethene

CH4

C2H6

https://dl.doubtnut.com/l/_bvakX9LpwSu6
https://dl.doubtnut.com/l/_DHvOujMhfQwk


D. Ethyne

Answer: B

Watch Video Solution

19. In the following sequence of reactions, products (A) to (H)

are formed: 

  

The gases (B), (C), and (D), respectively, are:

A. 22.4 litres

https://dl.doubtnut.com/l/_DHvOujMhfQwk
https://dl.doubtnut.com/l/_NIGTI32HLyEt


B. 2.24 litres

C. 24.7 litres

D. 2.47 litres

Answer: B

Watch Video Solution

20. In the following sequence of reactions, products (A) to (H)

are formed: 

  

The gases (B), (C), and (D), respectively, are:

https://dl.doubtnut.com/l/_NIGTI32HLyEt
https://dl.doubtnut.com/l/_MMMySHe2nDka


A. 1

B. 13

C. 2

D. 12

Answer: B

Watch Video Solution

21. In the following sequence of reactions, products (A) to (H)

are formed: 

https://dl.doubtnut.com/l/_MMMySHe2nDka
https://dl.doubtnut.com/l/_Ft8K9sz01GC6


  

The gases (B), (C), and (D), respectively, are:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Me − ≡ − Br

H − ≡ − Br

Br − ≡ − Br

https://dl.doubtnut.com/l/_Ft8K9sz01GC6


22. In the following sequence of reactions, products (A) to (H)

are formed: 

  

The gases (B), (C), and (D), respectively, are:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RO7JG0puF9HK


Watch Video Solution

23. i. (A), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and is optically active. 

ii. (B), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and shows diastereomerism. 

iii. (C), a compound with lowest number of C atoms and

unsaturated hydrocarbon, shows both optical and geometrical

isomerism. 

Following is the reaction sequence of A, B, and C. 

  

The structure of compound (A) is:

A. 

https://dl.doubtnut.com/l/_RO7JG0puF9HK
https://dl.doubtnut.com/l/_SJiu52jD61e1


B. 

C. 

D. 

Answer: C

Watch Video Solution

24. i. (A), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and is optically active. 

ii. (B), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and shows diastereomerism. 

iii. (C), a compound with lowest number of C atoms and

unsaturated hydrocarbon, shows both optical and geometrical

isomerism. 

https://dl.doubtnut.com/l/_SJiu52jD61e1
https://dl.doubtnut.com/l/_ZjebZgfMbjwD


Following is the reaction sequence of A, B, and C. 

  

The structure of compound (A) is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H − ≡ − ≡ − H

= − =

https://dl.doubtnut.com/l/_ZjebZgfMbjwD


25. i. (A), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and is optically active. 

ii. (B), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and shows diastereomerism. 

iii. (C), a compound with lowest number of C atoms and

unsaturated hydrocarbon, shows both optical and geometrical

isomerism. 

Following is the reaction sequence of A, B, and C. 

  

The structure of compound (A) is:

A. 

https://dl.doubtnut.com/l/_xEKEX49btf4o


B. 

C. 

D. 

Answer: B

Watch Video Solution

26. i. (A), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and is optically active. 

ii. (B), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and shows diastereomerism. 

iii. (C), a compound with lowest number of C atoms and

unsaturated hydrocarbon, shows both optical and geometrical

isomerism. 

https://dl.doubtnut.com/l/_xEKEX49btf4o
https://dl.doubtnut.com/l/_1Fna62TpusGH


Following is the reaction sequence of A, B, and C. 

  

The structure of compound (A) is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1Fna62TpusGH


Watch Video Solution

27. i. (A), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and is optically active. 

ii. (B), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and shows diastereomerism. 

iii. (C), a compound with lowest number of C atoms and

unsaturated hydrocarbon, shows both optical and geometrical

isomerism. 

Following is the reaction sequence of A, B, and C. 

  

The structure of compound (A) is:

https://dl.doubtnut.com/l/_1Fna62TpusGH
https://dl.doubtnut.com/l/_EB7Uf5UkxLNN


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

28. i. (A), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and is optically active. 

ii. (B), a compound with lowest number of C atoms, is

unsaturated hydrocarbon and shows diastereomerism. 

https://dl.doubtnut.com/l/_EB7Uf5UkxLNN
https://dl.doubtnut.com/l/_FzWUVjyrjaq0


iii. (C), a compound with lowest number of C atoms and

unsaturated hydrocarbon, shows both optical and geometrical

isomerism. 

Following is the reaction sequence of A, B, and C. 

  

The structure of compound (A) is:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_FzWUVjyrjaq0


Answer: B

Watch Video Solution

29. In the following sequence of reactions, products (B) to (E)

are formed: 

 

Product (B) is:

A. 

B. 

C. 

H ≡ − MgBr

BrMg − ≡ − MgBr

https://dl.doubtnut.com/l/_FzWUVjyrjaq0
https://dl.doubtnut.com/l/_Bt8m4GTY441L


D. 

Answer: C

Watch Video Solution

30. In the following sequence of reactions, products (B) to (E)

are formed: 

 

Product (B) is:

A. 

https://dl.doubtnut.com/l/_Bt8m4GTY441L
https://dl.doubtnut.com/l/_cuB9jlCEvVRu


B. 

C. 

D. Both (b) and (c)

Answer: D

Watch Video Solution

31. In the following sequence of reactions, products (B) to (E)

are formed: 

https://dl.doubtnut.com/l/_cuB9jlCEvVRu
https://dl.doubtnut.com/l/_pWTFKRNx8xpu


 

Product (B) is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H − C ≡

. .

ө

CNa

⊕

Na

. .

ө

C ≡

. .

ө

C
⊕

Na

https://dl.doubtnut.com/l/_pWTFKRNx8xpu
https://dl.doubtnut.com/l/_84W2r4dvyuZT


32. In the following sequence of reactions, products (B) to (E)

are formed: 

 

Product (B) is:

A. 

B. 

C. 

D. Both (b) and (c)

Answer: A

https://dl.doubtnut.com/l/_84W2r4dvyuZT


Watch Video Solution

33. In the following sequence of reactions, products (B) to (E)

are formed: 

 

Product (B) is:

A. Both proceed via  mechanism

B. Both proceed via E2 mechanism

C. B to C proceeds via E2 and D to E via  mechanism

D. B to C proceeds via  and D to E via E2 mechanism.

SN 2

SN 2

SN 2

https://dl.doubtnut.com/l/_84W2r4dvyuZT
https://dl.doubtnut.com/l/_8p25HqJtsrAx


Answer: C

Watch Video Solution

34. In the following sequence of reactions, products (B) to (E)

are formed: 

 

Product (B) is:

A. 

B. I is more basic than II.

https://dl.doubtnut.com/l/_8p25HqJtsrAx
https://dl.doubtnut.com/l/_d5pHR6wpNs8s


C. II is more basic than I.

D. In E2 elemination reaction, -proton is abstracted by

base

Answer: B

Watch Video Solution

β

35. In the following sequence of reactions, the products (A) to

(G) are formed: 

i.   

ii.   

iii.   

Compounds (A) and (B), respectively, are:

2CH4(g)
Δ

−−−→
1773K

(A)(g) + B(g)

4molof(A)
Δ

−−−−−−−−−−→
Ni (CN ) 4 +THF

(C)
O3 / oxid .
−−−−−→ (D)only

(A)
( 1 ) 1molofNaNH2

−−−−−−−−−−−→
( 2 )C2H5I

(E)
3molofE

−−−−−−→
Redhottube

F
⏐↓O3 /Red .

(G ) only

https://dl.doubtnut.com/l/_d5pHR6wpNs8s
https://dl.doubtnut.com/l/_ULvojbFdZ1ZG


A. Ethane and 

B. Ethene and 

C. Ethyne and 

D. Ethyne and 

Answer: D

Watch Video Solution

O2

H2

O2

H2

36. In the following sequence of reactions, the products (A) to

(G) are formed: 

i.   

ii.   

iii.   

Compounds (A) and (B), respectively, are:

2CH4(g)
Δ

−−−→
1773K

(A)(g) + B(g)

4molof(A)
Δ

−−−−−−−−−−→
Ni (CN ) 4 +THF

(C)
O3 / oxid .
−−−−−→ (D)only

(A)
( 1 ) 1molofNaNH2

−−−−−−−−−−−→
( 2 )C2H5I

(E)
3molofE

−−−−−−→
Redhottube

F
⏐↓O3 /Red .

(G ) only

https://dl.doubtnut.com/l/_ULvojbFdZ1ZG
https://dl.doubtnut.com/l/_xFj2tSYCNbWv


A. Benzene

B. Mesitylene

C. Cycloocta-1,3,5-triene

D. Cycloocta-1,3,5,7-tetraene

Answer: D

Watch Video Solution

37. In the following sequence of reactions, the products (A) to

(G) are formed: 

i.   

ii.   

iii.   

Compounds (A) and (B), respectively, are:

2CH4(g)
Δ

−−−→
1773K

(A)(g) + B(g)

4molof(A)
Δ

−−−−−−−−−−→
Ni (CN ) 4 +THF

(C)
O3 / oxid .
−−−−−→ (D)only

(A)
( 1 ) 1molofNaNH2

−−−−−−−−−−−→
( 2 )C2H5I

(E)
3molofE

−−−−−−→
Redhottube

F
⏐↓O3 /Red .

(G ) only

https://dl.doubtnut.com/l/_xFj2tSYCNbWv
https://dl.doubtnut.com/l/_7miBUyCTxh5V


A. Glyoxal

B. Glycol

C. Oxalic acid

D. Methylglyoxal

Answer: C

Watch Video Solution

38. In the following sequence of reactions, the products (A) to

(G) are formed: 

i.   

ii.   

iii.   

Compounds (A) and (B), respectively, are:

2CH4(g)
Δ

−−−→
1773K

(A)(g) + B(g)

4molof(A)
Δ

−−−−−−−−−−→
Ni (CN ) 4 +THF

(C)
O3 / oxid .
−−−−−→ (D)only

(A)
( 1 ) 1molofNaNH2

−−−−−−−−−−−→
( 2 )C2H5I

(E)
3molofE

−−−−−−→
Redhottube

F
⏐↓O3 /Red .

(G ) only

https://dl.doubtnut.com/l/_7miBUyCTxh5V
https://dl.doubtnut.com/l/_Uk4dRweVu2UE


A. Propyne

B. Butyne

C. cis-But-2-yne

D. trans-But-2-yne

Answer: B

Watch Video Solution

39. In the following sequence of reactions, the products (A) to

(G) are formed: 

i.   

ii.   

iii.   

Compounds (A) and (B), respectively, are:

2CH4(g)
Δ

−−−→
1773K

(A)(g) + B(g)

4molof(A)
Δ

−−−−−−−−−−→
Ni (CN ) 4 +THF

(C)
O3 / oxid .
−−−−−→ (D)only

(A)
( 1 ) 1molofNaNH2

−−−−−−−−−−−→
( 2 )C2H5I

(E)
3molofE

−−−−−−→
Redhottube

F
⏐↓O3 /Red .

(G ) only

https://dl.doubtnut.com/l/_Uk4dRweVu2UE
https://dl.doubtnut.com/l/_hwAB00GAW1yn


A. Mesitylene

B. 1,2,3-Triethylbenzene

C. 1,2,3-Trimethylbenzene

D. 1,3,5-Triethylbenzene

Answer: D

Watch Video Solution

40. In the following sequence of reactions, the products (A) to

(G) are formed: 

i.   

ii.   

iii.   

Compounds (A) and (B), respectively, are:

2CH4(g)
Δ

−−−→
1773K

(A)(g) + B(g)

4molof(A)
Δ

−−−−−−−−−−→
Ni (CN ) 4 +THF

(C)
O3 / oxid .
−−−−−→ (D)only

(A)
( 1 ) 1molofNaNH2

−−−−−−−−−−−→
( 2 )C2H5I

(E)
3molofE

−−−−−−→
Redhottube

F
⏐↓O3 /Red .

(G ) only

https://dl.doubtnut.com/l/_hwAB00GAW1yn
https://dl.doubtnut.com/l/_uDTXcALfhf45


A. 2-Oxobutanal

B. 2-Oxobutanoic acid

C. Methylglyoxal

D. 2-Oxopropanoic acid

Answer: A

Watch Video Solution

41. In the following sequence of reactions, products (A) to (H)

are formed: 

 

Compound (B) is:

A. 

https://dl.doubtnut.com/l/_uDTXcALfhf45
https://dl.doubtnut.com/l/_UeljJtnfiE9y


B. 

C. 

D. 

Answer: B

View Text Solution

42. In the following sequence of reactions, products (A) to (H)

are formed: 

 

Compound (C) is:

A. 

https://dl.doubtnut.com/l/_UeljJtnfiE9y
https://dl.doubtnut.com/l/_VB1yt4HEsjA6


B. 

C. 

D. 

Answer: B

View Text Solution

43. In the following sequence of reactions, products (A) to (H)

are formed: 

 

Compound (D) is:

A. 

https://dl.doubtnut.com/l/_VB1yt4HEsjA6
https://dl.doubtnut.com/l/_zdEAlbthoag9


B. 

C. 

D. 

Answer: B

View Text Solution

44. In the following sequence of reactions, products (A) to (H)

are formed: 

 

Compound (F) is:

https://dl.doubtnut.com/l/_zdEAlbthoag9
https://dl.doubtnut.com/l/_gOpPFu7FxbFs


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

45. In the following sequence of reactions, products (A) to (H)

are formed: 

https://dl.doubtnut.com/l/_gOpPFu7FxbFs
https://dl.doubtnut.com/l/_npc5Qg8P2baX


 

Compound (G) is:

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_npc5Qg8P2baX
https://dl.doubtnut.com/l/_tDK0GMEw0bFL


46. In the following sequence of reactions, products (A) to (H)

are formed: 

 

Compound (H) is:

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_tDK0GMEw0bFL


47. In the following sequence of reactions, products A to D are

formed: 

  

The structure of product (B) is:

A. 

B. 

C. 

https://dl.doubtnut.com/l/_y2BIJ361qBTq


D. 

Answer: D

Watch Video Solution

48. In the following sequence of reactions, products A to D are

formed: 

  

The structure of product (B) is:

https://dl.doubtnut.com/l/_y2BIJ361qBTq
https://dl.doubtnut.com/l/_7jrL6FZqTWOv


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

49. In the following sequence of reactions, products A to D are

formed: 

https://dl.doubtnut.com/l/_7jrL6FZqTWOv
https://dl.doubtnut.com/l/_rXtQfTXN68Ay


  

The structure of product (B) is:

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_rXtQfTXN68Ay


Watch Video Solution

50. In the following sequence of reactions, products A to D are

formed: 

  

The structure of product (B) is:

A. 

B. 

https://dl.doubtnut.com/l/_rXtQfTXN68Ay
https://dl.doubtnut.com/l/_YdjOGp0xjeHN


C. 

D. 

Answer: D

Watch Video Solution

51. In the following sequence of reactions, products A to D are

formed: 

https://dl.doubtnut.com/l/_YdjOGp0xjeHN
https://dl.doubtnut.com/l/_XOFy2h4t6qfc


  

The structure of product (B) is:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_XOFy2h4t6qfc


Exercises Multiple Correct Answers Type

Answer: A

Watch Video Solution

1. Which of the statements are correct?

A. (a) Alkenes are more reactive than alkynes towards

electrophilic addition reaction.

B. (b) Alkynes are more reactive than alkenes towards

nucleophilic addition reaction.

C. (c) Catalytic hydrogenation of alkynes is more reactive

than alkenes.

https://dl.doubtnut.com/l/_XOFy2h4t6qfc
https://dl.doubtnut.com/l/_VxXAmPizlxRC


D. (d) Catalytic hydrogenation of alkenes is more reactive

than alkynes.

Answer: A::B::C

Watch Video Solution

2.   

Which statement(s) is/are correct about the given reaction?

A. (a) C atom accepting the H is reduced, and the C atom

forming a bond with OH is oxidised.

B. (b) Given reaction is a redox reaction.

C. (c) The average oxidation number of the two C atoms in

each compound is same .

HC ≡ CH
Dil .H2SO4

−−−−−−→
+Hg2 +

CH3CH = 0

( − 1)

https://dl.doubtnut.com/l/_VxXAmPizlxRC
https://dl.doubtnut.com/l/_EVsDxIOs7yGb


D. (d) The average oxidation number of the two C atoms in

each compound is same . The net e�ect is no

change in average oxidation state.

Answer: A::C

Watch Video Solution

( − 2)

3. Which statement(s) is/are WRONG?

A. (a) Acetylene is insoluble in conc.  due to not

formation of vinyl carbocation 

.

B. (b) Ethylene is soluble in conc.  due to the

formation of alkyne carbonation 

H2SO4

(CH2 =
⊕

CH)(HSO
−
4 )

H2SO4

https://dl.doubtnut.com/l/_EVsDxIOs7yGb
https://dl.doubtnut.com/l/_uUD34lQLXr5y


C. (c) But-2-yne dissolves in conc.  due to the

formation of vinyl carbocation

, but it is stabilised

by electron-donating methyl group and is more stable

than the vinyl carbocation formed from acetylene.

D. (d) More the s character in the positively charged C, the

more stable is the carbocation and more likely is its

formation.

Answer: D

Watch Video Solution

(H3C −
⊕

CH2)(HSO
−
4 )

H2SO4

(Me −
⊕

C = CH − Me)(HSO
−
4 )

https://dl.doubtnut.com/l/_uUD34lQLXr5y


4.   

Which of the statements are correct about the reactivities of

alkene, alkynes, and arenes?

A. (a) Ring (A) is more strained due to full double bond and

is less stable than ring (B). Moreover, C atoms in ring (A)

have more s character than those in ring (B), further

making it less stable than ring (B). Hence, alkenes are

more reactive towards EA reaction.

B. (b) EN of sp-hybridised C atom of alkynes is greater than

-hybridised C atom of alkenes, which holds the 

electrons of alkynes more tightly. Moreover, there is a

sp2 π

https://dl.doubtnut.com/l/_YZaEL86T17fH


greater delocalisation of  electrons (due to cylindrical

nature) in alkynes than in alkenes. In alkenes, 's are

less easily available for EA reactions than those in

alkynes. So alkynes are less reactive than alkenes

towards EA reactions.

C. (c) In alkynes, because of the cylindrical nature of their 

-bonds, approach by hydrogen along the axis of cylinder

is more e�ective. Thus the transition state in alkynes is

less strained. So alkynes react faster than alkenes with

.

D. (d) Arenes are more reactive towards EA reaction than

alkenes and alkynes due to delocalisation of their .

Answer: A::B::C

π

πē

π

H2

πē' s

https://dl.doubtnut.com/l/_YZaEL86T17fH


Watch Video Solution

5. Which of the statements are WRONG about the nucleophilic

addition reaction of alkenes and alkynes?

A. Addition of nucleophile  to alkene gives an alkyl

carbanion  whose negative charge is on

the -hydridised C atom.

B. Addition of nucleophile  ot an alkyne gives a vinyl

carbanion  whose negative charge is on

the -hybridised C atom. Due to more s character, it is

(R
Ө

O)

sp3

(R
Ө

O)

sp2

https://dl.doubtnut.com/l/_YZaEL86T17fH
https://dl.doubtnut.com/l/_8gF9u67tRzxD


readily formed and more stable than alkyl carbanion

formed with alkenes. So alkynes are more reactive than

alkenes towards NA reaction.

C. Strong electron-withdrawing inductive e�ect 

further stabilises both vinyl and alkyl carbanion.

D. Strong electron-donating inductive e�ect  further

stabilises both vinyl and alkyl carbanion.

Answer: D

Watch Video Solution

( − I)

( + I)

https://dl.doubtnut.com/l/_8gF9u67tRzxD


6. In the following sequence of reactions, 

  

Which of the statements are correct about the compound (D)?

A. 

B. 

C. 

D. IN E2 elimination, the most acidic H atom is removed.

The inductive e�ect  of Br atom increases the

acidity of H atoms to which Br atoms are bonded. 

( − I)

https://dl.doubtnut.com/l/_FawXM25RAzYc


Decreasing acidity of H atom in (B) is as follows: 

H at  at  at 

Answer: A::D

Watch Video Solution

C − 1 > H C − 2 > H C − 3

7. Acetylene is thermodynamically unstable and readily

explodes, therefore it is stored in commercial cylinders used

for oxy-acetylene torch for welding. These cylinders contain:

A. (a) Pumice stone saturated with acetone.

B. (b) Charcoal powder saturated with acetone.

C. (c) Dissolved in water to give  solution.

D. (d) Dissolved in turpentine oil.

0.5M

https://dl.doubtnut.com/l/_FawXM25RAzYc
https://dl.doubtnut.com/l/_GMv0Wzc4Ya40


Answer: A::C

Watch Video Solution

8. Which of the statements are correct for alkyne with

molecular formula ?

A. (a) It shows 7 structural isomers.

B. (b) It shows 4 terminal and 3 internal alkynes.

C. (c) It shows 3 terminal and 4 internal alkynes.

D. (d) Only one isomer is chiral.

Answer: A::B::D

Watch Video Solution

C6H10

https://dl.doubtnut.com/l/_GMv0Wzc4Ya40
https://dl.doubtnut.com/l/_p9ZXeuG0I7FW
https://dl.doubtnut.com/l/_NRfPsK8UqRhj


9. For the conversion of alkyne to cis-alkene,  Lindlar's

catalyst is used: 

  

Which of the statements are wrong:

A. (a) The function of  or  is to reduce the

surface area of �nely divided catalyst Pd so that

adsorption of  on  is reduced.

B. (b) The function of S or quinoline is to remove excess of

. It is done through the formation of  with S

or by absorption of excess  by quinoline to form (I) or

(II). 

H2 +

BaSO4 CaCO3

H2 Pd

H2 H2S(g)

H2

https://dl.doubtnut.com/l/_NRfPsK8UqRhj


C. (c) Boiling xylene acts as a solvent to dissolve the

reactant (alkyne).

D. (d) Boiling xylene acts as inhibitor, decreasing the

asborption of  on �nely divided catalyst  or .

Answer: D

Watch Video Solution

H2 Pd Pt

10. i.   

ii.   

(iii)   

Me − ≡ − H
( i )Sia2BH

−−−−−−−−→

( ii )H2O2 /
Ө

OH

A

Me − ≡ − H
( i )BH3 +THF

−−−−−−−−−→

( ii )H2O2 /
Ө

H

B

https://dl.doubtnut.com/l/_NRfPsK8UqRhj
https://dl.doubtnut.com/l/_yWV3NQrKLjK3


iv.   

Which of the statements are correct?

A. (a) In all, acetone is the major product.

B. (b) In all, propanal is the major product.

C. (c) C and D are acetone, whereas A and B are propanal as

the major product.

D. (d) C and D are propanal, whereas A and B are acetone as

the major product.

Answer: C

Watch Video Solution

Me − ≡ − H
Dil .H2SO4 +Hg2 +

−−−−−−−−−−−→ D

11. Which of the following statements are correct?

https://dl.doubtnut.com/l/_yWV3NQrKLjK3
https://dl.doubtnut.com/l/_9g5wWDilsJAK


A. (a)  of cis-pent-2-ene is greater than trans-pent-2-

ene

B. (b)  of hex-1-ene is greater than trans-hex-2-ene

C. (c)  of 2,5-dimethyl hexane is greater than octane

D. (d)  of 2-methyl-pent-2-ene is greater than trans-

hex-2-ene 

Heat of combusion

Answer: A::B::D

Watch Video Solution

ΔH ∘
c

ΔH ∘
c

ΔH ∘
c

ΔH ∘
c

ΔH ∘
c =

12. Which of the following statement(s) is/are correct:

https://dl.doubtnut.com/l/_9g5wWDilsJAK
https://dl.doubtnut.com/l/_O54J4PPo3fWV


A. (a) Hydrogenation of but-2-yne in the presence of

Lindlar's catalyst yields cis-but-2-ene.

B. (b) Hydrogenation of pent-2-yne in the presence of P-2

catalyst yields trans-pent-2-ene.

C. (c) Hydrogenation of pent-2-yne in the presence of K

(potassium) and liquid  yields trans-pent-2-ene.

D. (d) Hydrogenation of but-2-yne in the presence of

 yields cis-but-2-ene.

Answer: A::C

Watch Video Solution

NH3

LiAlH4

https://dl.doubtnut.com/l/_O54J4PPo3fWV


13.   

Compound (B) is same when (A) is:

A. (a) 

B. 

C. (c) 

D. 

Answer: A::C::D

Me − ≡ − Me

H − ≡ − H

https://dl.doubtnut.com/l/_QQvpCcRmqU51


Watch Video Solution

14. Which of the statements are correct? 

  

where (B) and (C) are:

A. (a) Enantiomers if .

B. (b) Diastereomers if .

C. (c) Both are meso and hence the same compound if

.

D. (d) An equimolar mixture of (B) and (C) is a racemic

mixture if .

Answer: A::C::D

Watch Video Solution

R − ≡ − R ′
Na+ liq .NH3

−−−−−−−→
+EtOH

(A)
Br2 /CCl4
−−−−−→ B + C

R ≠ R ′

R ≠ R ′

R = R ′

R ≠ R ′

https://dl.doubtnut.com/l/_QQvpCcRmqU51
https://dl.doubtnut.com/l/_esK2mLEjwL1U


15. Which of the statements are correct? 

  

  

A. (a):- (C) is an equimolar mixture of two enantiomeric

compounds.

B. (b):- (F) is a single compound and is optically inactive.

C. (c):- (C) is a single compound and is optically inactive.

D. (d):- (F) is an equimolar mixture of two enantiomeric

compounds.

R − ≡ − R
H2 +P − 2
−−−−−→
Catalyst

(A)
MMPP
−−−−→ (B)

H + /H2O

−−−−−→ + (C)

(D)
MMPP
−−−−→ (E)

H + /H2O

−−−−−→ (F)

https://dl.doubtnut.com/l/_esK2mLEjwL1U
https://dl.doubtnut.com/l/_rxHYqJN6Ezl4


Answer: A::B

Watch Video Solution

16. Hydroboration oxidation and acid hydration will yield the

same product in case of:

A. 

B. b. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

Me − ≡ − Me

https://dl.doubtnut.com/l/_rxHYqJN6Ezl4
https://dl.doubtnut.com/l/_ZaGCIoquWZJd


17.  Acedic acid  

(A) and (B), respectively, are:

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

C4H6

H2 +Pt
−−−→

1mol
C4H8

O3 /H2O
−−−−→

18. All reagents, , ,  

, and  react with:

[Cu(NH3)2]
⊕

[Ag(NH3)2]
⊕

CH3MgBr NaNH2

https://dl.doubtnut.com/l/_ZaGCIoquWZJd
https://dl.doubtnut.com/l/_tMj80FHU3xTy
https://dl.doubtnut.com/l/_J91n4kL7LZiL


A. (a) Cyclooctyne

B. (b) Pent-1-yne

C. (c) Pent-2-yne

D. (d) Ethyne

Answer: B::D

Watch Video Solution

19. Compound (A) does not react with Tollens or Grignard

reagent, but after treatment with , it gives the above

test. The compound (A) is/are:

A. (a) 

B. 

NaNH2

Me − ≡ − Me

https://dl.doubtnut.com/l/_J91n4kL7LZiL
https://dl.doubtnut.com/l/_NSbGFIjGuo8U


C. 

D. (d) 

Answer: A::C::D

Watch Video Solution

Ph − ≡ − Me

20. Compound (A) reacts with  and Tollens

reagent, but after with alc: KOH it does not give the above

test. Compound (A) is:

A. (a) 

B. (b) 

C. 

D. (d) 

[Cu(NH3)2]
+

Me − ≡ − Me

Me − ≡ − H

Ph − ≡ − H

https://dl.doubtnut.com/l/_NSbGFIjGuo8U
https://dl.doubtnut.com/l/_jRKpzi97OMPF


Answer: C

Watch Video Solution

21. Which of the statements are correct?

A. (a)  Marsh gas

B. (b)  Gas is a content of CNG

C. (c)  Gas is used for welding purpose

with  gas

D. (d)  Gas is used in Holme signals with 

Answer: A::B::C::D

Watch Video Solution

Be2C + H2O →

Al4C3 + H2O →

CaC2 + H2O →

O2

Ca3P2 + H2O →

CaC2

https://dl.doubtnut.com/l/_jRKpzi97OMPF
https://dl.doubtnut.com/l/_D0zR0RMMqH3k


22.   

Reagents used in conversion from (A) to (B) are:

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: A::B::C::D

Watch Video Solution

Sn(Hg) /conc. Hcl

HI + P

Zn(Hg) /conc. HCl

PhNHNH2, glycol/
Θ

OH

https://dl.doubtnut.com/l/_D0zR0RMMqH3k
https://dl.doubtnut.com/l/_8XhTrGgh0Mqg


23. Which gas is in an antidote of Lewisite (a poisonous gas

used in World War II):

A. (a) Sarin gas

B. (b) MIC

C. (c) BAL

D. (d) Mustard gas

Answer: C

Watch Video Solution

24. Which statements are correct:

https://dl.doubtnut.com/l/_LhxUyn4T3jJP
https://dl.doubtnut.com/l/_lWQJWKrKHliO


A. (a) Heterogeneous catalyst used in polymerisation of

alkene is Ziegler Natta catalyst (for the synthesis of

HDPE).

B. (b) Homogeneous catalyst used in the hydrogenation of

alkenes is Wilkinson's catalyst.

C. (c) Formula for Ziegler Natta catalyist is

 and for Wilkinson's catalyst is 

.

D. (d) Wilkinson's catalyst also reduces acid (RCOOH) to

alcohol .

Answer: A::B::D

Watch Video Solution

[RhCl(PPh3)3]

TiCl4 + Et3Al

(RCH2OH)

https://dl.doubtnut.com/l/_lWQJWKrKHliO
https://dl.doubtnut.com/l/_9Sc3BojXsims


25.   

Which statements are correct for reagents A, B, C, and D?

A. 

B. 

(A) (B) (C) (D)

a. H2 /Pt MMPP Coldalk.4 O2 + PdCl2

KMnO4 +CuCl2

+H2O

(A) (B) (C) (D)

b. H2 /Pd + BaSO4 HCO3H Hotalk. Dil. H2SO4

+quinoline KMnO4 +Hg2 +

https://dl.doubtnut.com/l/_9Sc3BojXsims


Exercises Single Correct Answers Type

C. 

D. 

Answer: A::C::D

Watch Video Solution

(A) (B) (C) (D)

c. Sia2BH PhCO3H OsO4 / O2 + PdCl2

+CH3COOH NaHSO3 +CuCl2

+H2O

(A) (B) (C) (D)

d. BH3 + THF MCPBA OsO4 / Wacker

+CH3COOH H2O2 process

https://dl.doubtnut.com/l/_9Sc3BojXsims


1.   

The product (B) is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qDhxKGweyVes
https://dl.doubtnut.com/l/_HB66nGOTg1tX


2.   

The product (B) is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HB66nGOTg1tX


3.   

The intermediate species formed in the above reaction is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bkWFYn20C2cO


4.   

The product (B):

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QSEtdJ22m1wM


5. There are two paths (a) and (b) for the preparation of a

compound (A)

 (2-

methylpent-1-en-3-yne), which path is correct and why? Also

name the path (a) and (b). 

A. Path I is feasible.

B. Path II is feasible

C. Both paths are feasible.

https://dl.doubtnut.com/l/_cCubL9tifVNf


D. Both paths are not feasible.

Answer: B

Watch Video Solution

6. Give the reactivity in the decreasing order of the following

alkynes towards nucleophilic addition reaction with

.  

(I)  (II) 

  

(III)  (IV) 

A. (a) 

B. (b) 

MeOΘ /MeOH

Me − ≡ − Me

Me − ≡ − H H − ≡ − H

(I) > (II) > (III) > (IV )

(I) > (IV ) > (III) > (II)

https://dl.doubtnut.com/l/_cCubL9tifVNf
https://dl.doubtnut.com/l/_ZpmG0h3xNT5a


C. (c) 

D. (d) 

Answer: B

Watch Video Solution

(IV ) > (III) > (II) > (I)

(II) > (III) > (IV ) > (I)

7. Give the reactivity in the decreasing order of the following

nucleophiles towards nucleophilic addition reaction with

compound .  

(I)  (II)   

(III)  (IV) 

A. (a) 

B. (b) 

C. (c) 

A(F3C − ≡ − CF3)

CH3O
Θ C3H

Θ
5

CH3COO CH3SO
Θ
3

(II) > (I) > (III) > (IV )

(IV ) > (III) > (I) > (II)

(I) > (II) > (IV ) > (III)

https://dl.doubtnut.com/l/_ZpmG0h3xNT5a
https://dl.doubtnut.com/l/_EP4vcdLeVCUb


D. (d) 

Answer: A

Watch Video Solution

(III) > (IV ) > (II) > (I)

8.   

Vicinal dihalides undergo double dehydrohalogenation to give

terminal alkyne. How many moles of  are used in the

overall reaction?

A. One

B. Two

C. Three

NaNH2

https://dl.doubtnut.com/l/_EP4vcdLeVCUb
https://dl.doubtnut.com/l/_wGmwlKYlXeeM


D. Four

Answer: C

Watch Video Solution

9. The minimum number of C atoms an alkyne must have to

show diastereomerism:

A. 4

B. 5

C. 6

D. 7

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wGmwlKYlXeeM
https://dl.doubtnut.com/l/_48YsvYAXPVN3


10. Which of the following is propargyl group?

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: A

Watch Video Solution

−CH2 − C ≡ CH

−C ≡ C − Me

−C ≡ CH

−C ≡ C − CH2 − CH3

11. What is the smallest ring that can accommodate a triple

bond?

A. Cyclohexyne

https://dl.doubtnut.com/l/_48YsvYAXPVN3
https://dl.doubtnut.com/l/_6sbNZUzJQPsl
https://dl.doubtnut.com/l/_4D6h08TzxuF7


B. Cycloheptyne

C. Cyclooctyne

D. Cyclononyne

Answer: C

Watch Video Solution

12. In the conversion of alkyne to trans-alkene by Birch

reduction using alkali metals (such as  or ) in liquid 

and alcohol (  or ),  

 

  

Na K NH3

MeOH EtOH

R − ≡ − R
Na+ liq .NH3

−−−−−−−→
+EtOH

https://dl.doubtnut.com/l/_4D6h08TzxuF7
https://dl.doubtnut.com/l/_BqECxHaRpZJ2


the mechanism takes place in the formation of intermediate

species in the following sequence:

A. (a) Radical anion  vinylic radical  trans-vinylic

anion  trans-alkene

B. (b) Radical anion  trans-vinylic anion  vinylic

radical  trans-alkene

C. (c) Vinylic radial  radical anion  trans-vinylic

anion  trans-alkene

D. (d) Vinylic radical  trans-vinylic anion  radical

anion  trans-alkene

Answer: A

Watch Video Solution

→ →

→

→ →

→

→ →

→

→ →

→

https://dl.doubtnut.com/l/_BqECxHaRpZJ2
https://dl.doubtnut.com/l/_WIujp9jsAiGk


13. In the reaction,  

 source of

two H atoms which are added to alkyne to give trans-alkene is:

A. (a) 

B. (b) 

C. (c) 

D. (d) Both (a) and (c)

Answer: D

Watch Video Solution

R − ≡ − R
Birch

−−−−−→
reduction

NH3

EtOH

Et − NH2

https://dl.doubtnut.com/l/_WIujp9jsAiGk


14. In the reaction: 

A. (a) 

B. (b) 

C. (c) 

D. (d) Both (b) and (c)

Answer: D

Watch Video Solution

Na + NH3 + EtOD

Na + ND3 + EtOH

Na + ND3 + EtOD

https://dl.doubtnut.com/l/_sobVj4e5dLyn


15. Interconversion of terminal to internal alkyne and vice

versa takes place by the following reagents (A) and (B): 

  

Reagents (A) and (B) are:

A. (a)  and alc. 

B. (b) alc.  and 

C. (c) alc.  and  catalyst

D. (d)  and Lindlar's catalyst

Answer: A

Watch Video Solution

NaNH3 KOH

KOH NaNH2

KOH P − 2

NaNH2

https://dl.doubtnut.com/l/_zb7vRpyyeOtJ


16.   

  

Compounds (B) and (C) are:

A. 

B. 

C. 

D. (B) is (II) and (C) is (III)

Answer: B

Watch Video Solution

R − ≡
(A )

− ≡ − R
Lindlar's catalyst +H2

−−−−−−−−−−−−→ (B)

https://dl.doubtnut.com/l/_TUkb3OsQLg0p


17.   

Compounds (B) and (C) are:

A. 

B. 

C. 

D. B is (I) and C is (II)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XR5A4803y93I


18.   

(B), (C), and (D), respectively, are

A. 

B. (b) (I), (III), (II)

C. (c) (III), (II), (I)

D. (d) (III), (I), (II)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MrAVrx1jjPIt
https://dl.doubtnut.com/l/_vKn3RFrvwpay


19.   

A. , Q and 

B. P and Q both I and II, 

C. P is both I and II, Q and 

D. P, Q, and 

Answer: B

ΠmpliesI R ⇒ II

R ⇒ II

R ⇒ II

R ⇒ AllII

https://dl.doubtnut.com/l/_vKn3RFrvwpay


Watch Video Solution

20.   

A. (a) 

B. (b) 

C. (c) 

A B C D E F

. (I) (II) (I) (IV ) (III) (IV )

A B C D E F

. (I) (I) (II) (IV ) (IV ) (III)

A B C D E F

. (II) (I) (I) (IV ) (III) (III)

https://dl.doubtnut.com/l/_vKn3RFrvwpay
https://dl.doubtnut.com/l/_qCRFmAZc0jVs


D. (d) 

Answer: D

Watch Video Solution

A B C D E F

. (II) (I) (I) (III) (IV ) (IV )

21. 

A. (a) (I), (II), and (III)

https://dl.doubtnut.com/l/_qCRFmAZc0jVs
https://dl.doubtnut.com/l/_Uo02KrTmPfED


B. (b) (II), (I), and (III)

C. (c) (II), (III), and (I)

D. (d) (I), (III), and (II)

Answer: C

Watch Video Solution

22.   

A, B, and C:

https://dl.doubtnut.com/l/_Uo02KrTmPfED
https://dl.doubtnut.com/l/_jtWjRahMvReF


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

23. Compound (X) on complete catalytic hydrogenation with

 gives an alkane. The number of moles of  required

per mole of compound (X) is:

A. 2

H2 /Pt H2

https://dl.doubtnut.com/l/_jtWjRahMvReF
https://dl.doubtnut.com/l/_pxKO5O5Hxdny


B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

24.   

Compounds (A) and (B) are:

A. 

B. 

C. 

D. 

Cl3 − ≡
(X )

− H −−−−−−−−−−→
D2 +P − 2catalyst

(A)
HCl
−−→ (B)

https://dl.doubtnut.com/l/_pxKO5O5Hxdny
https://dl.doubtnut.com/l/_cVR2oeH1GmxC


Answer: B

Watch Video Solution

25.   

Compound (B):

A. 

B. (b) 

C. 

D. d. 

Answer: C

Watch Video Solution

H − ≡ − H
( i )O3

−−−−−−−−−−−→
( ii ) (H2O ) / (Zn )

(A)
Zn/CH3COOH

−−−−−−−−−→ (B)

Me − COOH

https://dl.doubtnut.com/l/_cVR2oeH1GmxC
https://dl.doubtnut.com/l/_E3WlLgSr2LY5


Watch Video Solution

26. Which one of the following does not dissolve in conc.

?

A. (a) 

B. (b) 

C. 

D. d. 

Answer: A

Watch Video Solution

H2SO4

H − ≡ − H

Me − ≡ − Me

H2C = CH2

27.   

The major amount of (C) is:

2H − ≡ − H
CuCl

−−−→
NH4Cl

A
H2 +Ni2B
−−−−−→ B

Br2

−−−−−→
(Major )

C

https://dl.doubtnut.com/l/_E3WlLgSr2LY5
https://dl.doubtnut.com/l/_mj4NTOgD9RLl
https://dl.doubtnut.com/l/_uPadHVkV5ZdN


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

28.   

Compounds (A) and (B) are:

2HC ≡ CH
CH2Cl2

−−−−−→
+NH4Cl

(A)
1mol
−−→
HCl

(B)

https://dl.doubtnut.com/l/_uPadHVkV5ZdN
https://dl.doubtnut.com/l/_9nYNOUfWFciN


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

29.   

Compound (A) and (B) are:

A. 

B. 

C. 

2HC ≡ Ch
Cu2 + +O2

−−−−−→ (A)
1mol
−−→
HCl

(B)

https://dl.doubtnut.com/l/_9nYNOUfWFciN
https://dl.doubtnut.com/l/_4o3FrwrvqHI3


D. 

Answer: B

Watch Video Solution

30. 

  

Compounds (A) and (B) are:

A. 

B. 

C. 

D. 

− ≡ − H
( i )Sia2BD

−−−−−−−−−→
( ii )CH3COOD

A
NH2OH +

Θ
OH

−−−−−−−−→ B

https://dl.doubtnut.com/l/_4o3FrwrvqHI3
https://dl.doubtnut.com/l/_8Trvd8xKD3qr


Exercises Archives Single Correct Answer Type

Answer: A

Watch Video Solution

1. When propyne is treated with aqueous  in the

presence of , the major product is:

A. (a) Propanal

B. (b) Propyl hydrogen sulphate

C. (c) Acetone

D. (d) Propanol

Answer: C

W t h Vid S l ti

H2SO4

HgSO4

https://dl.doubtnut.com/l/_8Trvd8xKD3qr
https://dl.doubtnut.com/l/_JhYtyqwHLAZU


Watch Video Solution

2. Acidic hydrogen is present in:

A. (a) Ethyne

B. (b) Ethene

C. (c) Benzene

D. (d) Ethane

Answer: A

Watch Video Solution

3. The number of stuctural and con�guration isomers of a

bromo compound,  formed on addition of HBr to 2-

pentyne respectively are:

C5H9Br

https://dl.doubtnut.com/l/_JhYtyqwHLAZU
https://dl.doubtnut.com/l/_LRoBuivVVp6N
https://dl.doubtnut.com/l/_dC0YnazUobw5


A. (a) 1 and 2

B. (b) 2 and 4

C. (c) 4 and 2

D. (d) 2 and 1

Answer: B

Watch Video Solution

4. Identify a reagent from the following list which can easily

distinguish between 1-butyne and 2-butyne.

A. (a) Bromine, 

B. (b) , Lindlar's catalyst

C. (c) Dilute , 

CCl4

H2

H2SO4 HgSO4

https://dl.doubtnut.com/l/_dC0YnazUobw5
https://dl.doubtnut.com/l/_wRfIIWMQ139q


D. (d) Ammoniacal  solution

Answer: D

Watch Video Solution

Cu2Cl2

5. The reagent(s) for the following conversion 

  

is/are:

A. (a) Alcoholic 

B. (b) Alcoholic KOH followed by 

C. (c) Aqueous KOH followed by 

D. (d) 

KOH

NaNH2

NaNH2

Zn/CH3OH

https://dl.doubtnut.com/l/_wRfIIWMQ139q
https://dl.doubtnut.com/l/_wgInYt2VWfIe


Answer: B

Watch Video Solution

6. The synthesis of 3-octyne is achieved by adding a

bromoalkane into a mixture of sodium amide and alkyne. The

bromoalkane and alkyne, respectively, are

A. (a)  and 

B. (b)  and 

C. (c)  and 

D. (d)  and 

Answer: B

Watch Video Solution

BrCH2CH2CH2CH2CH3 CH3CH2C ≡ CH

BrCH2CH2CH3 CH3CH2CH2 ≡ CH

BrCH2CH2CH2CH2CH3 CH3C ≡ CH

BrCH2CH2CH2CH3 CH3CH2C ≡ CH

https://dl.doubtnut.com/l/_wgInYt2VWfIe
https://dl.doubtnut.com/l/_PDq34RAXkvCY


Exercises Archives Fill In The Blanks Type

1. ……………… is more acidic (Ethane, Ethene, Ethyne).

Watch Video Solution

2. Acetylene is treated with excess sodium in liquid ammonia.

The product is reacted with excess of methyl iodide. The �nal

product is……………….

Watch Video Solution

3. Addition of water to acetylene compound is catalysed

by……………….and…………………

Watch Video Solution

https://dl.doubtnut.com/l/_YYUiwCgZ0HaZ
https://dl.doubtnut.com/l/_iyTEyn8dNrBm
https://dl.doubtnut.com/l/_hVuy1DLP60IH


Exercises Archives Analytical And Desriptive Type

1. Outline the reaction sequence of the conversion of ethene

to ethyne (the number of steps should not be more than two).

Watch Video Solution

2. Identify a reagent from the following list which can easily

distinguish between 1-butyne and 2-butyne.

Watch Video Solution

3. How would you convert acetylene to acetone?

Watch Video Solution

https://dl.doubtnut.com/l/_hVuy1DLP60IH
https://dl.doubtnut.com/l/_p6AkCJEJNwkA
https://dl.doubtnut.com/l/_uJs55bMjhLeZ
https://dl.doubtnut.com/l/_0LSUF9LRfjNW


4. Give reasons for the following: 

 is more basic than 

Watch Video Solution

CH2 = CH Θ HC ≡ C Θ

https://dl.doubtnut.com/l/_0LSUF9LRfjNW
https://dl.doubtnut.com/l/_VhagkjJWuqkm

